5 Here there are three codes to work out.
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In the next two questions, work out the missing code letters and write them in the answer

spaces provided beneath the pictures. Each letter represents an individual feature in the picture next to it. Work out which feature
is represented by each letter. Apply the code to the picture in the box and circle the letter
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In the next two questions, write in the missing code letters. Then identify the features ] o ;’,1// 7, % Dl @ R 9:/ a b c d e
in each set of pictures that are not relevant to the answer and are included as distractors. 4 == : =
Write these on the answer lines provided. ' APX BQZ BQY ARZ
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Distractor 2

? Assign codes to the first four pictures so that the fifth picture has the code BLT.
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